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1101 | KR EE 1510 755 755 0 0.5 205 0 113 0 0 0
EE 10 10 10 0 1 0 216 0 0 0 0
(&) 1520 765 765 0
1103[ 35 mE 4 40 0 40 10 0 0 0 3780 0 2376
GhH 4 40 0 40
1141|5848 mE 59 295 0 295 5 0 0 0 5400 0 1620
=) 4 40 0 40 10 0 0 0 1944 0 1512
& 63 335 0 335
1201|H % T 70 1050 0 1050 15 0 0 0 0 2700 0
B30 11 165 0 165 15 0 0 0 0 3888 0
GhH 272 4080 0 4080
1203 ¥Ry [EH 566 5660 0 5660 10 0 0 0 5184 0 3240
50 600 9000 0 9000 15 0 0 0 5724 0 5400
EE 54 540 0 540 10 0 0 0 4104 0 1998
(&) 1276 15760 0 15760
1205|F5NnAE [EE 598 239 239 0 0.4 313 0 151 0 0 0
#mE 16 64 0 64 4 0 0 0 0 3024 0
12 hel 60 12 0 12 0.2 0 0 0 0 167 0
(&) 674 315 239 76
1207| B & [E)) 803 105 90 15
1209| B & B 1 3 0 3 3 0 0 0 0 2268 0
(&) 6 18 0 18
1215|8% ZH 2 8 0 8 4 0 0 0 0 2376 0
Eh 2 8 0 8
1223|&EH RE 670 201 201 0 0.3 178 0 151 0 0 0
(&) 695 206 201 5
1301 |HF ] 16 32 0 32 2 0 0 0 1782 0 1512
=H 640 192 0 192 0.3 0 0 0 0 173 0
= E 25 13 0 13 05 0 0 0 0 216 0
=0 12 60 0 60 5 0 0 0 4104 0 3240
(&) 693 297 0 297
1321 [#R S 74 370 0 370 5 0 0 0 3024 0 2700
= 42 210 0 210 5 0 0 0 2916 0 2268
=ik 30 150 0 150 5 0 0 0 0 2700 0
(&) 146 730 0 730
13B51E—<>  [=k 600 78 0 78 0.13 0 0 0 0 86 0
(&) 600 78 0 78
1353[ Tk =0 119 12 0 12 0.1 0 0 0 292 0 151
(&) 119 12 0 12
1603[ L) —  [EE 3 30 0 30 10 0 0 0 4860 0 3780
(&) 3 30 0 30
16097 avaly  [&J 15 90 0 90 6 0 0 0 7560 0 6804
(&) 15 90 0 90
1611[LAR RI& 38 380 0 380 10 0 0 0 5184 0 4536
(&) 46 445 0 445
1612|[ =L AR [1EH 2 10 0 10 5 0 0 0 0 2916 0
(&) 2 10 0 10
1627[2=k=k  [&FJI 120 24 0 24 0.2 0 0 0 0 378 0
(&) 120 24 0 24
1705| T A= =40 450 36 0 36 0.08 0 0 0 0 56 0
(&) 450 36 0 36
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1803 | EHEE EE 630 63 0 63 0.1 0 0 0 216 0 162
S 150 15 0 15 0.1 0 0 0 0 174 0
=) 150 30 0 30 0.2 0 0 0 325 0 66
& 930 108 0 108
1807 |8 & E% 100 10 0 10 0.1 0 0 0 0 72 0
E& 1500 300 0 300 0.2 0 0 0 0 121 0
GhH 1600 310 0 310
1809[L&HL EF 400 40 0 40 0.1 0 0 0 0 83 0
% 300 60 0 60 0.2 0 0 0 0 132 0
& 700 100 0 100
* SREET * 20390 44188 2500 41688
2103 [ BEHHA [ED) 3 15 0 15
2441 T #fi EH 100 17 0 17 0.17 0 0 0 0 486 0
& 100 17 0 17
2701[7—JLR _ [EEX 5 43 0 43 8.5 0 0 0 0 6480 0
[E)) 5 43 0 43
2811|& RiF 60 15 0 15 0.25 0 0 0 0 972 0
BEX 160 40 0 40 0.25 0 0 0 1296 0 972
(&) 238 57 0 57
2823| % —1 [ED) 30 300 0 300
* M FEET * 701 546 0 546




